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(AII the odd numbers from 1 to 23 are written in_increasing order from top to bottomghe letters of the

word ‘LATE’ are written in aIphabetlcaI order against the numbers which are multiple of 3. Qne number is
between the number against B and K are written. M is written just above B. | is written against an odd
number. Three numbers are between E and V. O is written juslabove N such that both are written against
the two consecutive prime numbers N is not written adjacent to T. One number is between the numbers
against which N and S are written. o







Q1. How many numbers are written below the number against which the letter | is written ?

A. 9 "
B. 8 \ Shet V=
D 3 6 8 4 i Lg;_
E. 7

1S
=

Q2. | is written against which number ?
A. 15

B. 17
SN )
P~ 13

E. None of these



Q3. P to U went to watch movie on different days of a week starting from Sunday to Friday. Who
went on Monday ?

l. S went two days before U, who went after P, who went just after T.

ll. Two person went between U and P. Q went just after U.

gﬁgutﬁaﬂ@rﬂqﬂu deh Icdig & AT el & fheH c@a JATar &1 AHIR &r
IGT?

LS, Ud ar oA Jgal STAT &, ST PoF &1 ST &, ST T S 91 1T

IILU3R P AT & =afdd 31T Q, U & §1¢ I1T|

A. Only Il is sufficient

B. Only Ilis sufficient
C. Either |l or Il is sufficient

B~ Both are required
E. None is sufficient



P to U went to watch movie on different days of a week starting from Sunday to Friday. Who
ent on Monday ?
S went two days before U, who went after P, who went just after T.

@T/wg person w_efnt between U and P. Q went just after U.







O to Z are twelve entrepreneur. They attends the seminar on different dates in September 2022. The women
entrepreneur ur attends _the seminar onle!e_wmb_ere@and the men entrepreneur attends the seminar
on odd numb_e_rgj_gate No two person attends the seminar on same day If the sum of the digits of their
seminar date is an odd number then they attends the seminar inndia. If the sum of the digits of their
seminar is an even_number then they attends the seminar in America and If the seminar date is a single digit
number then they attend the seminar in Dubai.

@vo persons attends the seminar after Q. Four persons attends the seminar between Q and W, who attends
the seminar in India. V att attends after R. Q attends the seminar on the_date which is the common multiple of 6
and 12. The persons who attends the seminar before W attends the seminar in Dubai and they are women.
AN,_who attends the seminar 96 hours after 0o O attends JUSt after P. Three persons attends the seminar

———

between U and Z and both of them attends the seminar in America. S who attends the seminar_before X
attends the seminar after Z but before Q. Y who attends the seminar on 12t September attends the seminar
7 days before Z. S and X are women.|The person who attends the seminar between Q and T attends the

seminar two days after Q and three days before 'D
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Q4. How many persons attends between Tand P ?
A.5 B.6 C.7 D.8 E. None of these

Q5. Select the option that can replace the (?) in the following series ?
R,V,P,Z(?)

mogow>
cp—|><§

Q6. Which of the following statement is true ?
T attends the seminar in India

The total number of persons attends the seminar in Dubai is less than that in India
Y attends the seminar on 19t

~

More than one is true
None is true

mooOw>

Q7. Who is the last person to attend seminar in India ?
A. W B.Y C.T D.U E. None of these

Q8. How many male members are there ?
A.5 B. 10 C.2 D.7 E. None of these



First fifteen natural numbers are written from bottom to top. The letters of the word JASMINE’
were written in alphabetical order from bottom to top against the even numbers. The position
at which V was written was thrice the position at which U was written. T was written below A.
Three letters were written between G and X, where X was written below G. Both G and Y were
written against a number which is a multiple of 5. K was written above H.

Ugel Ugg Tiehd HEAU & & IW &l AR fadl St 81 JASMINE' s & 31aR HH
m&ﬁ%wﬁ;ﬁﬁ@waﬁrmaﬁmﬁmmﬁlmwwvm
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forEar IrT 2l G 3R X F AT H AT 3R O 7w A, St 6 F A x for@r /& a7
G 3 Y Sl @l Ush T&AT & AH for@r arar a1 St 5 &7 9[0T g1 K, H & I ferar
IT AT |




First fifteen natural numbers are written from bottom to top. The letters of the word JASMINE’ were written
in alphabetical order from bottom to top against the even numbers. The position at which V was written was
thrice the position at which U was written. T was written below A. Three letters were written between G and
X, where X was written below G. Both G and Y were written against a number which is a multiple of 5. K was

written above H.



Q. How many vowels are written between T and J ?
A. None

B. 2

C. 3

D. 4

E. None of these

Q. Which of the following letter is written above H ?
A. K

B. A

C. Y

D. More than one

E. None of these
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1, 2, 3 and 4 are four rows from north to south respectively. Each row has five persons sitting such that the
distance between any two adjacent persons is equal. The persons sitting at the end of each row is facing
north and of others are facing south. Each person in a row is aligned to one person from eacl each of the other
rows.Cny person whose name is a vowel is fa_ﬂg_north @ sits 2" to the left of A. . R sits exactly behind W.
Y sits 2nd _to the right of W. Neither Y nor R is facing_north. As many person sit sit between H and Y as
between U and Z. G sits immediate left of Z. G sits in a row which is north of th_e_rgw in which W _sits but
not in adjacent roes. B sits to the |mmed|ate left. ©of F and they are facmg opposite dlrectlons . D sits exactly
behind U. two person sit between N and E. S sits 2" to to the left of the person 1 who sits exactly in front of P.
Two person sit between | and V. C sits next to Q. V S|ts in row 4. At least one row is in north of N. N does
not sit next to I. T faces south. T and S sits in different row_Sng_Eface same direction.

if a person sits exactly in front or behind another person then they are sitting in adjacent rows,
a_IBQed to each other and facing same dlrectlon







379, I IFd Sif 3 IFddl & fdAdhedd TsIT & Saddh A1 TAX & 1T Y& 8id &, 9r&r &I
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Now, the person who are immediate neighbours of the persons whose names start with_ vowels throw a pair
of dice and based on the results the persons move W|th|n the arrangement. The order followed by the
persons while throwing the dice s such that the persons whose names are vowels are considered

—

abetically
%‘the sum of the numbers on the=dice is a prime number then the person whose name is the preceding
legter of the one who threw the dic Il interchange his position W|t§Q ) -
f the sum of the numbers on the dice is an even number less than 11 then the person who threw the dice
will interchange his position with the person w whose name is the succeedlng letter of his name.
%the sum of the numbers on the dice is an odd multiple of 3, then the person who threw the dice will
interchange his position with the person whose name is the_p_cedlng letter of his name.
If the sum of the numbers on the dice is an even number greater than 10 then the person whose name is
the succeeding letter of the one who threw the dice will interchange his position with the one sitting exactly
in front of him. —_ - - - =

—

—
The results of the throws are as follows in the given order: / 'U
(6%) 54 (176) (2"4) . A
616 )

BC\[
@®C/ o ¥ > LS

of 2t AR



Q9. Which of the following persons interchanged his position with T ?

A. S y

° \o VeldtS
/

B.
C. B

D. A
,%None of the given optlon

Which of the following persons is sitting 2" to the right of Y after the final movements ?

&. Noone
B. |
c b @
D. W

E. None of these

@Who S|t’s_|mmed|ate left of the person who sits Infront of Y before movement ?
A | ~5Q c.v DD  ES

@ Wh|ch of the following persons interchanged his position with Q ?
} C.v D.G E. No one @

—

Q13. Which of the following person faces north before movement ?@
A.F B.C C.W D.R &H




Q14. Which of the glven conclu5|on is/are definitely false? feT arT fAsrst § O SiT-ara [Afaa

Statements: G)o £ 9, ,(-";9 T T 39T g/8?

Some mug are jug %

No glass is water o

Only mug is fan W HIT ST &

43% bowl is mug El'fl'é' ﬁl’@l’lﬂ iG] a'é"r %’

Only a few glass is bowl hdel HIT J@T &

43% HeRT HIT §

Conclusions: shdol DS Jelld CTARY %‘

‘/! Some mug which are fan can never be jug “Txu&

ﬂ% Some water can be both mug and fan 1)(?. .l‘\s( sy TR ‘

i) 57A>bowllsfan[pus) D4 H‘)‘J g—&'?ﬂ'ﬂ g, AT ST T8l g Thd
Only | and |1 fgtizws S U=l HIT AR GG &=l g1 Heho 8
Only | and Il fakews @ 57% FERT U@ &

All fablawrs
None of these

A
B.

/ Only Il and Il foleswe
D.
E



Q15. Which of the given conclusion is/are definitely false? feu av st & O ia-ava ARaa &9

R 9 i¢ K - @f 38 %-/g-?
Statements: (;] H ‘- 7 @
All Aare W Yo
Only afew W are O i A, wg
Only O are H WWWO%
Some O are E hdol O H %’
No Eis D $S 0, E%*

P E, DAL &
Conclusions: 9"‘
e Some E are not W (V‘S‘) (DQJD IGLER ’
) AlAcanbeH Do Flse TS E, WS 8
ﬂp Some D can be both Hand W Pd'u-( T A, HE Tohd &
n $S D, H 3 waE g I &

A.  Onlyland Il fepzs é

B. Onlylandlll felles®
£7° Only Il and || 4eie®s

D. Al fellafs

E. None of these



A ~ B means A is neither smaller than or equal to B

~: D

A ! B means A is not smaller than B I 4
A # B means A is neither greater than nor smaller than B -H =
A S B means A is neither greater than nor equal to B ¢ :‘ &—
A % B means A is not greater than B o - 4—

Ql6. Statements: l «— L

mooOm>P>

%NSMH#LYP,Q!CSP#D

7
0] Q! :RSO%S
XA A f‘i‘
Conclu5|on
T

57 Q % ey
cSL \//

&

Only | and Il follows

Only Il and Il follows

Only I and Il follows

Only | follows

Only Il follows

A~BHT IT EABI T A dler g iR T &
R g

AIBaT I & A, B BICT oTel &

A#BST 3T § A BH o dl 93T § 3T 7 & Bler
ASBHRITITEF AT AT s Serg ik a
R §

A%Ba&HT 37T & A B &3T oT8l &



A ~ B means A is neither smaller than or equal to B S D
A | B means A is not smaller than B Vo @fs
A # B means A is neither greater than nor smaller than B Ad ) —
A S B means A is neither greater than nor equal to B g . =
A % B means A is not greater than B s —

Q17. Statements:
S
P#Q$D; R%%QS$R™ W'{K\T 0;U~V;SIT  Argar 37 & A B ©YeT 8T &

™ A#BT 3T § A BH o o a3 & 3R o & Bler
Conclusipns; ASBRT AT E T AT AT B SeT g 3R T &
LKLV TR &
Il. DSUA A%BEHT AT T A BY J3T 81 &

. %T)(

A. Onlyland Il follows

B. Only Il and Il follows
C. Onlyland lll follows
D. Only Il follows

/ None follow



- 8

A ~ B means A is neither smaller than or equal to B

A | B means A is not smaller than B \

A # B means A is neither greater than nor smaller than B 4 !

A S B means A is neither greater than nor equal to B $ '
(S
/

’3
‘P
g
&
. L=

A % B means A is not greater than B

A~Basr3{2fr%A,B@rFra’raﬁ‘c'r%3ﬂT;ré‘r
Q18. Statements: 7 SEACES %"

N%MIL" P&'ISJ“‘LP C$D AIBH Y § A BH BT =gl ¢
A> r b A#BEI 3T § A B & 93T & 3R A & B

ICOHC:(HTS.',SHS- AssaﬁéHﬁ%%AHa‘rBﬁasT%sﬂTHzﬁ
L By SRIERY
@J”‘&W A%BEH T & A BY 3T 4T &

. I%N7\

> @)

A. Onlyland Il follows

B. Only Il and Il follows

C. _ Only I and Il follows

Only Il follows
E. Only lll follows



Agameis pIayed by 3 players A, B and C where all three are standing at a common point which is the mid-point of shorter side
ofa 90x30 rectangular field. In thls game each glayer walks a certain distance based on the game of cards. All three players
d!‘a’ws one card each in each attempt with total 3 attempts for each player. Some the info regarding cards outcomes given
below:

1%t attempt 2nd attempt 39 attempt __ Spade means East

CA) - ‘Sp‘%de‘:) (_R) Spade Heart means West

(B> g (r)Heet Diamond means North

@ ﬂYe Heart Queen (Q) [, Club means South
" VJw CI? 97((

:T
(D In the above table, P, Q, R, S and T represents missing value. 9 s =
(2)If any of the player goes out of the rectangular field then they loose the game.
(3) The one who goes the furthest from the starting point wins the game. \é

¢ S aac
P | ™\ | P
PRSTis coded as King Heart Ace Spade

. ! ce 3P &> Viowr)
UV QRis coded as Diamond King Queen Club
PTQUis coded as Heart Diamond Club Spade > Wor d
VPS is coded as Queen Ace Spade - S Q((
— — B

-

\
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